
SECTION 3/4"=1'-0
TT

SECTION 3/4"=1'-0
UU

SECTION 3/4"=1'-0
VV

SECTION 3/4"=1'-0
WW
S-2.5S-2.5S-2.5S-2.5

GRID

COLUMN, SEE PLAN

BRIDGING PER TRUSS MANUFACTURER

2x @ 16"  INTERIOR BEARING WALL
W/ LSL TOP AND BOTTOM PLATES

22" DEEP TOP CHORD BEARING P.E.
FLOOR TRUSSES, @ 16" -TYP SEE PLAN

GYPCRETE TOPPING, SEE
PLAN

3/4" T+G, SEE GENERAL
NOTES FOR MORE INFO -TYP

FIRE BLOCKING -TYP, SEE ARCH

GRID

HDU HOLDOWN W/ 5/8" Ø THREADED
ROD TO HOLDOWN BELOW @ ENDS, -TYP
@ SHEARWALLS, SEE PLAN

SHEAR WALL W/ 7/16" OSB TWO SIDES WITH
8D @ 4" O.C. @ PANEL EDGES AND @ 12" O.C.
IN FIELD. SEE PLAN -TYP

BLOCK ALL PANEL EDGES -TYP

SHEAR WALL W/ 7/16" OSB TWO SIDES WITH
8D @ 4" O.C. @ PANEL EDGES AND @ 12" O.C.
IN FIELD. SEE PLAN -TYP

FASTEN BOTTOM PLATE TO BLOCKING/ TOP
PLATES BELOW W/ 3/8" Ø x 8" LAG SCREWS @
8" @ 3rd FLOOR AND @ 12" @ 4th FLOOR

GRID

BRIDGING PER TRUSS MANUFACTURER

2x @ 16"  INTERIOR BEARING WALL
W/ LSL TOP AND BOTTOM PLATES

22" DEEP TOP CHORD BEARING P.E.
FLOOR TRUSSES, @ 16" -TYP SEE PLAN

GYPCRETE TOPPING, SEE
PLAN

3/4" T+G, SEE GENERAL
NOTES FOR MORE INFO -TYP

HDU HOLDOWN W/ 7/8" Ø THREADED
ROD TO WF BELOW @ ENDS, -TYP @
SHEARWALLS, SEE PLAN

SHEAR WALL W/ 7/16" OSB TWO SIDES WITH
8D @ 4" O.C. @ PANEL EDGES AND @ 12" O.C.
IN FIELD. SEE PLAN -TYP

FASTEN BOTTOM PLATE TO PLATES BELOW
W/ 5/8" Ø THROUGH BOLTS @ 12"

(1) #5 EPOXY COATED AROUND
PERIMETER @ MID-DETPTH

4" MINIMUM THICKNESS CONC TOPPING W/
GALV WWR6X6 W2.9 W2.9 REINFORCING -TYP
@ PATIO AREA

TAPERED TRUSSES @ 12" W/ TOP FLANGE
HGR, SLOPE TOP CHORD 1/4"/FOOT, SEE
ARCH FOR ADDITIONAL INFORMATION -TYP

SEE ARCH FOR DRAINAGE MAT AND
WATERPROOF MEMBRANE -TYP

22" DEEP P.E. FLOOR TRUSSES, @ 16"
-TYP SEE PLAN

3/4" T+G, SEE GENERAL
NOTES FOR MORE INFO -TYP

2x6 @ 16" BEARING WALL W/DBL
LSL TOP AND BOTTOM PLATES -TYP

WF W/ LSL PLATE FASTENED TO WF
PER GEN NOTES, SEE PLAN -TYP

SECTION 3/4"=1'-0
XX

SECTION 3/4"=1'-0
YY

SECTION 3/4"=1'-0
ZZ

S-2.5S-2.5S-2.5

(1) #5 EPOXY COATED AROUND
PERIMETER @ MID-DEPTH OF
TOPPING SLAB

4" MINIMUM THICKNESS CONC TOPPING W/
GALV WWR6X6 W2.9 W2.9 REINFORCING -TYP
@ PATIO AREA

TAPERED TRUSSES @ 12" W/ TOP FLANGE
HGR, SLOPE TOP CHORD 1/4"/FOOT, SEE
ARCH FOR ADDITIONAL INFORMATION -TYP

SEE ARCH FOR DRAINAGE MAT AND
WATERPROOF MEMBRANE -TYP

3/4" T+G, SEE GENERAL
NOTES FOR MORE INFO -TYP

(2) 3/8" Ø x 4 1/2" RSS SCREWS EACH
SIDE TOP + BOT

LVL BLOCKING BETWEEN TRUSSES @ POST
LOCATIONS -TYP

WF, SEE PLAN -TYP

3/4" CHAMFERED EDGE -TYP

GALV. HSS6x6 RAIL POST EMBEDDED 5" IN HIGH
STRENGTH NON-METALIC, NON-SHRINK
MORTAR IN 8' SQ. BOND OUT IN SLAB.

#5 U-BAR EPOXY COATED -TYP @
POST LOCATIONS & (1) #5 x48" E.S. OF
BOND OUT.

(1) #5 EPOXY COATED AROUND
PERIMETER @ MID-DETPTH

4" MINIMUM THICKNESS CONC TOPPING W/
GALV WWR6x6 W2.9 W2.9 REINFORCING -TYP
@ PATIO AREA

TAPERED TRUSSES @ 12" W/ TOP FLANGE
HGR, SLOPE TOP CHORD 1/4"/FOOT, SEE
ARCH FOR ADDITIONAL INFORMATION -TYP

SEE ARCH FOR DRAINAGE MAT AND
WATERPROOF MEMBRANE -TYP

22" DEEP P.E. FLOOR TRUSSES, @ 16"
-TYP SEE PLAN

3/4" T+G, SEE GENERAL
NOTES FOR MORE INFO -TYP

2x6 @ 16" BEARING WALL W/DBL
LSL TOP AND BOTTOM PLATES -TYP

WF W/ 2x BLOCKING FASTENED TO WEB W/
(1) 1/2" Ø CARRIAGE BOLT @ 18",  SEE PLAN

DBL LSL RIM TAPER CUT TO MATCH TRUSS PROFILE
FASTENED TO WF BLOCKING W/ (2) 7/8" Ø x 6" RSS
LAG SCREWS @ 16" -TYP @ EDGE OF PATIO

W8, SEE PLAN

#5 x 24" DBA

2X8 SPF#1 FLOOR JOISTS @ 16"
-TYP

8" CMU SHAFT , SEE PLAN

22" LVL LEDGER OVER POLY FASTENED TO
GROUTED CELL IN CMU SHAFT W/ (3) 5/8" Ø
x 4 1/2" GALV W.A. @ 16"

8" CMU SHAFT , SEE PLAN

2x BLOCKING FASTENED TO WEB W/
(1) 1/2" Ø CARRIAGE BOLT @ 18"

7/8"x8 1/2" TALL PLATE TANG
SLOPE @ 1"=1'-0" FOR DRAINAGE.

2"

BLOCKING AND FASTENING SIM TO
SECTION SS/2.4.

8 1/2"

STEEL BRACKET SEE SECTION SS/S2.4
FOR MORE INFO

1/2" x 4" WIDE STIFFENER PLATE
@ BOT. WHERE TAB EXTENDS
GREATER THAN 8" TO FACE OF
BRICK FROM SUPPORT. -TYP.

TANG TO COL
3/8"

TANG TO STIFF
1/4"

SHOP CUT 5"x1" SLOT IN TOP OF
STEEL BEAM WEB AT FLANGE FOR
PLATE PENETRATION.

8" TALL x 24" LONG SOLID BLOCKING
BOLTED TO STEEL BEAM W/ (2) 3/4"Ø
THRU BOLTS

4x4 STUB POSTS IN WEB TO SUPPORT
BLOCKING. ONE EA. END. FASTENED
TO STEEL BEAM W/ (2) 1/2" THRU
BOLT.

SEE SECTION SS/S2.4 FOR
TYPICAL STEEL FRAME INFO

1'-1 3/4"

2" CLR

8"

5
"

1
4
"

30"

30"

4
8
"

4
8
"

REINF. DETAIL

7

5

%

 

P

R

I

C

I

N

G

 

S

E

T

N

O

T

 

F

O

R

 

C

O

N

S

T

R

U

C

T

I

O

N

FOUNDATION PERMIT SET. TO BE USED
FOR FOUNDATION CONSTRUCTION
ONLY. COORDINATE WITH ARCH AND
CIVIL -TYP

D
R
A
W

N
 
B
Y

S
H

E
E
T
 
T
I
T
L
E

I
S
S
U

E
 
D

A
T
E

S
H

E
E
T
 
S
C
A
L
E

C
O

P
Y
R
I
G

H
T
:
 
R
e
u
s
e
 
o
r
 
r
e
p
r
o
d
u
c
t
i
o
n
 
o
f
 
t
h
e
 
c
o
n
t
e
n
t
s
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t
 
i
s
 
n
o
t
 
p
e
r
m

i
t
t
e
d
 
w

i
t
h
o
u
t
 
w

r
i
t
t
e
n
 
p
e
r
m

i
s
s
i
o
n
 
o
f
 
S
t
r
u
c
t
u
r
a
l
 
I
n
t
e
g
r
i
t
y
 
C
o
n
s
u
l
t
i
n
g
 
E
n
g
i
n
e
e
r
s
 
I
n
c
.

1
1

.
1

8
.
1

6
J
C

S

O
W

N
E
R

P
R
O

J
E
C
T
 
N

A
M

E

I
N

D
I
A

/
 
N

E
W

B
U

R
Y

 
R

E
S

I
D

E
N

C
E
S

,
 
L
L
C

.

6
2

 
I
N

D
I
A

 
S

T

P
o

r
t
l
a
n

d
,
 
M

a
i
n

e

PROJECT NO.

16-0022 GROUND IM
PROVEMENT

ONLY SET

S
E
C

T
I
O

N
S

3
/

4
"
=

1
'
-
0

"

S-2.5

AutoCAD SHX Text
November 18, 2016


